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PLACE VALUE & FDP...
Uit 7- Flace lfalue

|
| By the end of this unit you should be || Approximate: To estimate a number, amount or total often using rounding of
| aple to: Il numbers to make them easier to calculate with
I
|

U What do [ need o be abte to do? ” /_t’eﬂm(r

. Understand place value and the number Integer: a whole number that is positive or negative

Interval: between two points or values

system including decimals |
+ Understand and use place value for Median: A measure of central tendency (middle, average) found by putting all the

. ) il
decimals, integers and measures of any size; | data values in order and finding the middle value of the list.

decimals; I particular place in a number

Work with terminating decimals and their | Place value: The value of a digit depending on its place in a humber. In our
corresponding fractions || decimal number system, each place is 10 times bigger than the place to its right
Round numbers to an appropriate accuracy | | Range: The difference between the largest and smallest numbers in a set

use the symbols =, #, <,>

I
I
I
I
' |
' |
i |
| + Order number and use a number line for || Negative: Any number less than zero; written with a minus sign. I
| positive and negative integers, fractions and | pjace holder: We use O as a place holder to show that there are none of a I
' |
' |
' |
' |
' |
' |

Describe, interpret and compare data || Significant figure: A digit that gives meaning to a number. The most significant
L distributions using the median and range || digit (figure) is the first non-zero digit.
______________ —_—— e
I
| tateger Place abie : : Inlervale on a number lne :
| ' ] < ¢ > < > < > < > Divide the Fiifference by the |
| Billions Millions Thousands | | I T T T T 1 number of |nte|jv§Is (gaps) I
I I I D 20 40 60 30 ‘lDD Eg 100 = 5=20 |
| IE—_————————— — - ¥ - —— — — — — — -
I U p s u wr w74 the numberis halfway between 7
A e i’f e a! If the number is halfway between
: Placeholder : | &qu tﬂ th A ,/00 0{ we ‘round up” |
Three billion, one hundred and forty | : 5495 to the nearest 1000 5475 to the nearest 100 5475 to the nearest 10 :
eight million, thirty three thousand and T 1 r T ‘
:twenty nine I ) 6000 5400 1G500 5470 1 5480) |
1 billion 1, 000, 000, 000 L I
A million1.000,000 _! ,'______::________________I::::::::::::::::::::::’,
—————————————— | | /‘/ . . |
|6’0A¢W M’: e “,'? <>=+ :I &JE Spread of the values |: MM The middle value |
1 h || Difference between the biggest & smallest I Example 1 Medlgn: put them inorder 3 4 8 9 12 |
< less than - || 4 39 8 12 find the middle number 3 4(8)9 12 I
> greater than ™= mier @ 2500000 | | 39 812 | | |
B oo =) Three billon Biggest value — Smallest value
= equal to1 300 000000 8 Three ol H 12-3-9 | | Example 2 Median: put them in order |
Six thousand and eigh 68 000
I # not equal to ehty | Range = 9 I | 150 154 148 137 14858 160 |
e e ] o 2l 137 160 158 Y |
——————————————————————————— 5 .
| R | There are 2 m|d_dle numbers |
| pw/ﬂaé ones @ tenths hundredths I| Find the midpoint 152 I
- I_ _____________________
I . P I | _'
[
: “nought point ﬂw/m/ ialervale on a namber lie :
| five two” ¢ Y ' ” One whole spit into 10 parts makes tenths = 0.1 I
Il one tenth split into 10 parts makes hundredths = 0.01 I
| Five tenths and 0 ones, 5 tenth and 2 hundredths I
| two hundredths 0+01+01+01+01+01+001+001II S B e S E e S e I
| 0+05+002 1 O 010203040506070809 1 :
e e e o = SRl e e o —— _aI
_____________ ST I e e S S B B BN R B R |
&”my (/w/fmﬁ’ Which the largest of 0.3 and 0.23? | 0 0.02 004 0.06 0.08 0.1 |
/ | |
Ones ¢ tenths hundredths . 0.3>0.23 . - A LI T |
There are more counters in | 0O 02040608 1 12141618 2 |
o1 1o the furthest column to the left” L |
A e e e e e e e = — —
® [————F" """ """”""”"”"¥"”"”/”""”""”""”"”—”— -

| Kond to 7 sipnifioant ﬁ}m

| 370 to 1 significant figure is 400

| 37 to 1 significant figure is 40| Round to the first
| 3.7 to 1 significant figure is 4 | non zero number
I
I
I

both with the same
Ones @ tenths hundredths O 23 number of decimal

places is another way to
041 D01 001 compare the number of
[ R tenths and hundredths

0.37 to 1 significant figure is 0.4

I
I
I
I
I
I
I
0.1 |
I
I
I
I
I
: 0.00000037 to 1 significant figure is 0.0000004

|
|
|
|
|
|
|
: 030 Comparing the values
|
|
|
|
|




PLACE VALUE & FDP...

By the end of this unit you

should be able to:

fractions, decimals &
percentages

|
|
|
|
|
|
+ .Convert fluently between |
|
|
|
|
|
|

7;(#&’ MJ MM#A? ones @ tenths hundredths

| |
| |
| |
| Fraction: how many parts of a whole we have |
| Decimal: a number with a decimal point used to separate ones, tenths, hundredths etc. [
| Percentage: a proportion of a whole represented as a number between 0 and 100 |
| Place value: the numerical value that a digit has decided by its position in the number I
| Placeholder: a number that occupies a position to give value I
| Interval: a range between two numbers I
| Tenth: one whole split into 10 equal parts I
| Hundredth: one whole split into 100 equal parts I
| sector: a part of a circle between two radius (often referred to as looking like a piece of pie:)
: Recurring: a decimal that repeats in a given pattern |

__________________ -ll'______________________________I
| f-, B
Twenty hundredths ] W M
| Fifthe Il Peroen on a bundred grid |
One Whole -1 100% = a whole = 100 hundredths tenths
o . L \ I ‘ L X |
L', Oneg,tenth I 7 hundredths 6 tenths and |
5 4 Il 7 out of 100 3 hundrediths |
§ i | | | [ 1 @ 7% 63 hundredths
© 5 ° 63% |
IS - IS |
Two tenths = one fifth 5 s |
o 1 “ ~ — | I
One fifth (one whole split into 5 equal parts) = = =0.2 I 3 hundredths |
I T ——

One Whole =1

One hundredth

-

One tenth (one whole split into 10 equal parts) = 1 =-o01
10

. (one whole split into 4 o o ——t—t——+————+— One whole — split into
100 equal parts) o0, 1 10 equal parts
= 1
100

0 ones, 5 tenths and 2 hundredths
0+0.1+0.1+0.1+0.1+0.1+0.01+0.01
=0+0.5+0.02

=0.52

————————+——+ One tenth — split into
O o1 10 equal parts

[ |
1l |
1l |
| |
=001 k T ! I: Onetenth=1 =01 :
:I 10 |
I |
I |
| |
(! [

__________________ S e EEEEEEEEEE
Iy

1

|
Sinpls pie oharts | Lyuivalont frastions

| I
| I
| One quarter (one whole split into 4 equal parts) = 3 = 0.25 |I — | Represent equivalence with fraction walls I
Twenty five Split into 10 parts | | |
__ ty I p 5
| = h_ L= hundredths |I =10% = 36° 1 Whole 3 |
[ | | 1 1
| 2 One whole  ope ha|f|| I| - ’ I 2 . :
| < =05 |, Splitinto 2 parts II = | - | '
[ I = 50% = 180° II zII sl |4 lllzz :
c [t J 1 1 = 1
| (@] T I 5 5 5 5 5
. | T 1 T T 1 I
I Oné quarter = 0.25 || A pie chart has Splitinto 5 parts I| L | I; 61 ;I T etk T Iz AI |6
. o= 1) 360°s0allFDP | = 509, = 790 (N EEEEEEENENENEE |
r—-r—-————"—_-——_-—_—— |: calculations are |: o Ir io llfa io I| inl iulw llin l]En |
I F’w ﬂ'a é‘ out of 360 I %1 %2 %2 1z %z %.z %z %z 2 %2 %2 %z I
ns — on a diagran I L
| bbb bbb o ey P 1
- - - ---""-"F"""-"F”""”- "="”- "="” "=” "=” ¥"” ¥"” ¥"” ¥"” ¥"”¥"¥"¥ ”¥=”"7;--_ -/ ¥ /- = 1
| The denominator is represented by EQUALLY | | |
:_ sized parts — this is split into quarters I | gﬂ‘Wt fp]o e alco 70 out of 100 . S
_________________ - f 1 undre
r—-————————————————= | I 0 p means —> b e > Jow 1
| F ¢ /' I 100 70+100 =7 “tenths” ! I
| Fractions — on a namber lne ¥ 07 '
| I ° | One whole split into : | Using a |
I He ;| 18equalparts | calculator . . |
I 18 is the denominator | | u Convert to a decimal Be caref]l_]l of rticurrmg decimals |
| This point is at the 6th part | | =/ —»| S D &g = B 8‘33333333 |
| 6 is the numerator 5 3 1 | | O 3 ¥ I
| {8 6 > § | | This will give you the answer \ = 100 converts to a The dot above the 3 |
|_ | | in the simplest form percentage I
_________________ S S
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Uit 9+ Fractions and /De/‘&e/(fcya& af Anounts

——————————————— \ro-- - -5 - " -—"—-—"F—"""— " "= == 1
| What do [ reed to bo able 10 o7 | | Aeyworde |
I v

I L
| By the end of this unit you should : : Fraction: how many parts of a whole we have :
| beable to: Equivalent: of equal value
| = Find a fraction of a given amount : : Whole: a number with no fractional or decimal part. :
| = Use agiven fraction to find the [ Percentage: parts per 100 (uses the % symbol) I
| whole or other fractions I Place Value: the value of a digit depending on its place in a number. In our decimal |
| * Find the percentage of an I number system, each place is 10 times bigger than the place to its right I
| amount using mental methods |l Convert: change into an equivalent representation, often fraction to decimal to a |
| = Find the percentage of a given | percentage cycle.
| amount using a calculator I |
T T e _______ I
e e e ylepliegliegsliegliepliegsliegsegliegleglieglegeplegsieglegegleglegieglegleglegegleglegeg eyl
: f/."adﬂﬂl ”fﬂ}/m amoantl e par represents the whole amount 9,0
| Find < of £205 30 30 30
| £205 - ‘
| ; | 1 5 |55 b Use bar models for comparisons
| & [ g1 | s41 [ g41_[ €41 | ‘ , ' 20f90 =30
| \—Y—, 45
| 2 out of the 5 equal parts 2 =
| )k £;2 P £205 + 5 = £41 3014530

X £41 = £82
: Each part of the bar model represents £41. ‘ % of 90 = gof 45 ‘
L - —

Use a fraction of amoant

‘ The wording of the question is important to setting up the bar model ‘

|
|
| 2 - i 63
| 3 of a value is 70. What is the whole number?
-
| T~ 70 / 70+2=35 5 Find the whole
| 1 ) 1 Each part of the n of a number is 63. 21 ‘ 21 ‘ 21 | 21 ‘"
bar model \ Y j
: ‘ 35 ‘ 35 ‘ 35 ‘ represents 35. 1 84
| L , ) What is 2 of the number? 1
f \ Use the
| 35x3 =105 whole to find
1414 |1 1 !
| The whole number is 105 ‘ 4‘ 4‘ 4 ‘14‘14‘ 4‘" a given part
- _ e __ I
r---——H—Hm———"—""-"""F""""F""F"""\y -~ -~ -~-"-"—F-—"—---""-"""""""""”"”" """ """ ""”"""”"" |

| Find the percentage of an amoant (Mextal mtéw/e/ || Find the percentage of an amoant (Coloalator methods)

The whole represents 100%

10% = —ofthewholell Using a multiplier

f

Find 65% of 80 Fraction, decimal, percentage

1 II

conversion
K I

65% = 2= :
100

1

0%

\The multiplier

100%

[O.65X80=Q}

10% = 1—10 of the whole

2.1 of the whole
10 5

50% = —

5% = % of the whole

1
= of the whole )
z Using the percent button

Find 65% of 80

This brings up the % button on screen
You will see 65%

Find 65% of 80
80

A

[

8/8|8/8|8[8|8|8[8/8

For bigger percentages it is sometimes easier
to take away from 100%

I Type 65
Method 1: || You can also use the
65% = 10% X 6 + 5% | Press -SHIFT ( % calculator to support
=(8x6)+4 |: ( non calculator
=52 Press _ methods and find 1%
I (] 80 and then press = o 0% then add
Method 2: II percentages together
65% = 50% + 10% + 5% |
=40+8+4 |: [ “of” can represent ‘X’ in calculator methods}
=52




